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	Question
	Mark

	1
	

	2
	

	3
	

	4
	

	5
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Materials
For this paper you must have:
· the Pre-release resources booklet (enclosed)
· a pencil
· a rubber a ruler.
You may use a calculator.
Instructions
· Use black ink or black ball-point pen.
· Fill in the boxes at the top of this page.
· Answer all questions.
· You must answer the questions in the spaces provided.  Do not write outside the box around each page or on blank pages.
· Do all rough work in this book.  Cross through any work you do not want to be marked.
Information
· The marks for questions are shown in brackets.
· The total number of marks available for this paper is 76.
· Spelling, punctuation, grammar and specialist terminology will be assessed in Questions 03.3 and 05.4.
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	For the multiple-choice questions, shade the circle next to the correct answer. 
CORRECT METHOD 
      WRONG METHODS 
If you want to change your answer you must cross out your original answer as shown. 
If you wish to return to an answer previously crossed out, ring the answer you now wish to 
select as shown. 


	Section A Issue evaluation
Answer all questions in this section.

	Study Figure 1 in the resource booklet, ‘England’s housing challenge’.
 	 What percentage of new homes were built in 2022 as a proportion of those demanded (according to the NHF)
[1 mark]


	0
	1
	1


  


[image: ]
		A      15%
		B      20%
		C      50%
		D      70%



	0
	1
	2


 Suggest two reasons why there is a ‘housing crisis’ in the UK	            
[2 marks]

________________________________________________________________________________________
________________________________________________________________________________________


	0
	1
	3


Complete figure 4 to show the government spending per head on housing and amenities in England (2021)
[1 mark]


Figure 4: Government spending (£ per head) on housing  
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	1
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 ‘Greenfield sites will be essential locations to solve England’s housing crisis’. 
Do you agree?  Explain your answer.
		 [6 marks]


___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
___________________________________________________________________________________
 ___________________________________________________________________________________
 __________________________________________________________________________________ 
 ___________________________________________________________________________________
 ____________________________________________________________________________________
                       Extra space  ______________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 __________________________________________________________________________________





What is the approximate area in km2 that the proposed settlement will be? 
[1 mark]



________________________________ km2
 
Study Figure 2 in the resources booklet, ‘The proposed Tudeley Village development’

2
0
.
1
 
Outline two environmental opportunities in the new proposed development.

]
[2
 marks
1. _______________________________________________________________________________
 ___________________________________________________________________________________
 2. ________________________________________________________________________________
 ___________________________________________________________________________________
0
2
.
2
 

	From the options below, what is the 6-figure grid reference of the proposed railway station?
[1 mark]

A. 625 445
B. 626 456
C. 456 625
D. 584 456
0 2 . 3
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Using map evidence, suggest a challenge of the proposed development location. 
[2 marks]

____________________________________________________________________________________________________________________________________________________________________________________________________________________

02.4

















Study Figure 3 in the resource booklet, ‘Different perspectives on the Tudeley village development’.
	0
	3
	.
	1



Outline two ways the Tudeley Village development will reduce the affordable housing problem in the area.



[4 marks]
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
Extra space  ______________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
      ___________________________________________________________________________________
























	0
	3
	.
	2


To what extent can the Tudeley development be considered as a sustainable settlement?

				                                     
[6 marks]



 
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
___________________________________________________________________________________
 ___________________________________________________________________________________
 __________________________________________________________________________________ 
 ___________________________________________________________________________________
 ____________________________________________________________________________________
                       Extra space  ______________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________











	0
	3
	.
	3


Should the proposed Tudeley Village Development go ahead?.

· Tick the box to show your choice.

Yes

No


Use evidence from the resources booklet and your own understanding to explain
your choice.
[9 marks]
[+3 SPaG marks]
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 ___________________________________________________________________________________
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 ___________________________________________________________________________________
___________________________________________________________________________________
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                       Extra space  ______________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
 ___________________________________________________________________________________
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